58. x> +xy +yP =1
&N 2+ wl=0

26. rcos =0 = x =0, the y-axis
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30. rsinf =rcos = y = x, line with slope m = 1 and interceptb = 0

56. xy =2 = (rcos f)(rsinf) =2 = r’cosfsinf =2 = 2r’cosfsinf =4 = r’sin20=4

58. X+ xy+y’=1= +y’+xy=1 = P +r¥sinfcosf =1 = (1 +sinfcosf) =1



4. 1 +sin(—=0) =1 —siné £rand | + sin(x — 6) y
=] 4+5sind # —r = not symmetric about the x-axis; retesng 12
1 +sin(m —0)=1+4sinfd =r = symmetric about the
y-axis; therefore not symmetric about the origin
-1 1 x

6. 1+2sin(=0)=1—2sinf #rand 1+ 2sin(r — 6)

Y
=1+42sinf # —r = not symmetric about the x-axis;
I+ 2sin(mr—6)=1+42sinf =r = symmetric about the ( .
y-axis; therefore not symmetric about the origin re1+25in8
1
-1

8. cos(—%) =cos(4) =r = symmetric about the x-axis; Y racospr)
cos (#5) = cos (4) . so the graph is symmetric about the s
y-axis, and hence the origin.
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34. cosf=1-cosf = 2cosf =1 = cosf =3 y
= 0 =15%,—% = r=1;points of intersection are : rroos8
(% , %) and (% .= %) . The point (0, 0) is found by
1 X

graphing. = 1

f=1-cos@

36. \/2sinf = \/2cos 6 = sinf =cosf = =13,

=2 =>r=1=r==xlandf=F = ’= -1

= no solution for r; points of intersection are ( +1,Z).

The points (0, 0) and ( +1, %T—) are found by graphing.




